BRSNS AN (012:521) PR R4
T3, FIIf, Z PEAORS, R IFEROKRGLTS. POIEIE 3 REREXOEBEESZAIL. AH, SEEX% L(x, ) =
B XDRFERERTHLDOETD. “ldy EYBNEL, xyzcZETR
1 BEERIC, T FEEF ZELLEALLGEL. 48, (
_ 1) VxVy L(x, y)
ZHRIEFHEDAICHWLWTERL.

(1)
P+ Q :+PAQ  PvQ P50 PoQ: POQ (2) Vx3y L(x, y)
IR I T SRS S SO SR
I T S S S S
___T__j:___F__j: ________ ? ________ ? ________ ? ________ :r ________ (3) 3xVy L(x, y)
T | T
2 (4) 3xTy L(x, y)
P i QR (PANO—>R
F VR R
F ! F . T : L (5) VaVyVz{L(x, y) A Ly, 2) = L(x, 2)}
FiT LR o
T T S S e
S T U S USRI 4 REZEHICEY, BEEEMICLES
T . F : T !
B T B S (1) 3x {Px) > ()}
T ! T ! T i
3)
P o V(P P |
" ; i 5( 290l AQ); (2) Vx {3y P(x,y) > Vy O, »)}
B T
TR o
T | T | ;

2 REMEEMICKY, ESBEREIVESRERERLE
SV EROERTILESFRER IO RSFERILE

TESLN 5 £HZEHELLGSL

1 @E >0 >R 51 A={neR|l<10}, B={2n|neZ}tT5.

(1) AnB=

2 {A-(Z-B})nZ=

(2 (PAQ)v (P 0)
52 A={neZ|0<n<5 nlIRYTHL}

(3) 4=

(4) AxAxA =

53 A={T,F}
(5) P(4) =

6) | PMA) | =



